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1. 20oC 40oC
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2. panting

A. 
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 (m1) = 50 gm  (T1) = 20oC 

(m2) = 50 gm (T2) = 40oC 

 

 (T) =       

     

=  =    =     = 30oC 
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b) 100oC gm 0
o
C

 (Q2)      = m.s.∆T  

= 1x1x100  

= 100 cal 

    c) 0oC 1gm 0
o
C 

 (Q3)        = mL  

= 1x80 = 80 cal 

 

 

a) 100oC gm 
o
C  

(Q1) = mL

= 1x540 = 540 cal 

(L) = 540 cal/gm. 

 

 

 

 

 

 

 

 
 

a) 100oC gm c

b) 100oC gm c

c)  0oC gm c

d)  100oC 1gm 0oC
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         (L) = 80 cal/gm. 

    d) 100oC 1gm 0oC  

          (Q) = Q1+ Q2+ Q3 

= 540+100+80 

= 720 cal 
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A. 

 

1 m

(2) m                             

(3 (T1
o
C

o
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o
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(T3
o
C

m

(Q) = m.s.∆T 

= + 

(m3-m2).Sl.(T2-T3) = m1.Sc.(T3-T1)  + (m2-m1).Sw.(T3-T1) 

 =  

 Sw  = 1 cal/gm -oC 

Sc   = 0.095 cal/gm -oC 
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8. 20oC  

A. 
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A. 

*
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A. 

12. 

A. 

toC   =  (t + 273)K 

 20oC  = (20 + 273)K = 293K 
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16.

A. 

17 2o
C

 A.   

 

 

 

 

 

 

 

 

 : ∆T1 = 2oC   

                          m1 = m (1ℓ ) 

                        ∆T2 = ?   

                         m2 = 2m (2ℓ ) 

                (Q) = m.s.∆T 

∆T   

 

 =  

 

 =  

 

∆T2 = 1oC 
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